
Page 1 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

   
1 45-3 C2-2 *400SL(LO) M2-12 E1-3 K14 *REINSTALL 400SL W/ 8' MAST (LABOR ONLY)

REMOVE 250SL F1-3 250SL W/ 20' MAST
E3-10

1 50-2S C2-2F SV400SL M2-11S 2)E1-3I K14C 400W SL W/ 20' MAST
ADD *400SL(LO F1-3DH *REINSTALL  400SL W/ 8' MAST

2 45-4 73' #4TPLX C2-2 M2-12 *E2-3 K14
REMOVE *M8 *REMOVE CONDUIT AND 

CABLE TO SIGN POLE

2 50-2S 81' #6DPLX C2-2F M2-11S 2)E2-2I K14C CUT SERV. TO LENGTH & INSTALL ON NEW POLE
ADD *M8 *METER TO BE RELOCATED TO SIGN

SEE METER DRAWING ATTACHMENT CP #2

3 35-5 E1-3
REMOVE F1-3

E3-10

3 40-4S M2-11S E1-3I
ADD F1-3DH

4R 45-3 C1-1 M2-12 K14
REMOVE *M8 *REMOVE CONDUIT AND CABLE TO SIGN POLE

   

4 50-3S C1-1AAF M2-11S 2) K14C CUT SERV. TO LENGTH & INSTALL ON NEW POLE
ADD *M8 *METER TO BE RELOCATED TO SIGN

SEE METER DRAWING ATTACHMENT CP #4

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.



Page 2 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

5 45-4 M2-12 E2-1 K14 1/4" BANNER HEAD GUY
REMOVE

5 40-4S M2-11S E2-1 1/4" BANNER HEAD GUY
ADD

6 40-4 *95' #4TPLX 400SL M2-12 K14 400SL W/ 16' MAST
REMOVE *REMOVE TPLX FROM #6 TO #6A

6 40-4S *91 #6DPLX SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD *INSTALL DPLX FROM #6 TO #6A

7 45-3 C1-3 M2-12
REMOVE

7 50-2S C1-1AAF G39-15 M2-11S K14C
ADD

   
8 40-4S 78' #2TPLX M2-11S J5

ADD

9 40-5 EYE BOLT
REMOVE



Page 3 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

9 40-4S 76' #2TPLX M2-11S 2) K14C REINSTALL EXISTING SERVICE TO NEW POLE
ADD

10R 45-3 C1-3 C7 2) M5-5 M2-12
REMOVE

10 50-1S C1-1F M2-11S E2-1 WING GUY FOR ALLEY ARM TO #11
ADD C7AAF C7AAF FOR SLACK SPAN (Bottom Position)

11 40-4S M2-11S
ADD

   
10

EXIST

12R 40-3 50' 4) #6CU C8 2) M5-2 4) M5-5 M2-12 K14
REMOVE

4' #4TPLX

12 50-1S 56' 4) 336ACSR C8V-BKT M2-11S 2) F1-3DH 2) K14C STRING 56' SLACK SPAN WITH 2"-0" SAG
ADD 3) E1-3I

15' #4TPLX SERVICE TO TRAFFIC



Page 4 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

13R 40-4 75' 4) #6CU 2) M5-14 4) M5-11 3) M5-9 250SL M2-12 6) K14 250SL W/ 8' MAST
REMOVE 8) M5-20 6) M5-5 M5-2

75' #4TPLX

13 55-2S 103' 4) 336ACSR C1PTV SV400SL M2-11S J5 400W SV W/ 20' MAST
ADD

9 TO 13R 73' #4TPLX
REMOVE

13
EXIST

   
14R 40-3 155' 4) #6CU M5-14 2) M5-11 4) M5-5 250SL G39-25 M2-1 2) K14 250SL W/ 16' MAST

REMOVE
155' #4TPLX

14 55-2S 114' 4) 336ACSR C1VT-1X 25 KVA M2-11S K14C CUT SERV. TO LENGTH & INSTALL ON NEW POLE
ADD 114' #2TPLX

SV400SL 400W SV W/ 20' MAST

15R 35-4 98' 4) #6CU 2) M5-14 4) M5-11 8) M5-5 *M26-5 M2-2 K14 *TRANSFER SECURITY LIGHT TO NEW POLE
REMOVE EYE BOLT

TREE TRIM ON BACKSPAN

15 55-2S 105' 4) 336ACSR C1VX SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD *M26-5

TREE TRIM ON BACKSPAN & FORESPAN



Page 5 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

16R 40-3 129' 4) #6CU C1 M5-10 250SL G39-15 M2-1 EYE BOLT 250SL W/ 12' MAST
REMOVE TRIM (3) TREES ON BACKSPAN

129' #6DPLX CUT SERV. TO LENGTH & INSTALL ON NEW POLE

16 55-2S 130' 4) 336ACSR SV400SL M2-11S 2) K14C 400W SV W/ 20' MAST

ADD C1VT-1X 15 KVA CUT SERV. TO LENGTH & INSTALL ON NEW POLE
130' #6DPLX

17R 40-3 140' 4) #6CU C1 *M26-5 M2-12 K14 *TRANSFER SECURITY LIGHT TO NEW POLE
REMOVE

140' #6DPLX

17 55-2S 138' 4) 336ACSR C1V SV400SL M2-11S J5 400W SV W/ 20' MAST
ADD 138' #6DPLX *M26-5

   
18R 40-3 135' 3) #6CU C1 M2-12 2) K14

REMOVE
135' #6DPLX

18 55-2S 122' 4) 336ACSR C1V SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD

122' #6DPLX

19R 40-3 155' 3) #6CU C7 M2-12 E1-1 TRIM (4) TREES ON BACKSPAN
REMOVE E3-10

F1-2

19 *50-1S 166' 4) 336ACSR C8V-SW VERT. SW M2-11S INSTALL VERT. GANG SWITCH "OPEN"
ADD TREE TRIMS ON BACKSPAN & FORESPAN



Page 6 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

20R 45-3 2) C7 6) M5-5 400SL M2-12 2) E1-3 3) K14 400SL W/ 12' MAST
REMOVE 2) E3-10 CUT SERV. TO LENGTH & INSTALL ON NEW POLE

F1-4

20 55-2S 82' 4) 336ACSR SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD C1-C7V EXISTING 1/0 ACSR SLACK SPAN TO #20A

TREE TRIMS ON BACKSPAN & FORESPAN

21R 45-4 M2-1 E2-1 1/4" BANNER HEAD GUY
REMOVE FROM #21R TO #20R

   
21 40-4S M2-11S E2-1 1/4" BANNER HEAD GUY

ADD FROM #21 TO #20

   
20A EXIST 2) E1-3I
ADD F1-3DH

20

22R 45-3 216' 3) 1/0ACSR C1 400SL M2-12 400SL W/ 12' MAST
REMOVE 216' 1) #2ACSR

216' #6DPLX



Page 7 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

22 55-2S 211' 4) 336ACSR SV400SL K14C 400W SV W/ 20' MAST
ADD C1VT-1 10 KVA M2-11S INSTALL TRANSFORMER FOR STREET  LIGHT

22R1
REMOVE 30-4 M2-12

23R 40-3 221' 3) 1/0ACSR M5-14 2) M5-17 3) M5-5 M2-2 J8
REMOVE 221' 1) #2ACSR

23 55-1S 222' 4) 336ACSR C8V-BKT SV400SL M2-11S 2) F1-3DH K14C 400W SV W/ 20' MAST

ADD 3) E1-3I INSTALL CONDUCTOR FROM #23 TO #38 UTILIZING 

REDUCED 336 TENSION SAG CHARTS PROVIDED

   
24 55-2S 79' 4) 336ACSR C1PTV M2-11S J5

ADD
79' #6 DPLX

25R 40-3 165' 3) 1/0ACSR C1 2) M5-10 400SL G210-(25,37) M2-1 EYE BOLT 400SL W/ 12' MAST
REMOVE 165' 1) #2ACSR

25 55-2S 85' 4) 336ACSR SV400SL M2-11S 2) K14C 400W SV W/ 20' MAST
ADD C1VT-2 25 & 37 KVA

85' #6 DPLX CUT SERV. TO LENGTH & INSTALL ON NEW POLE

26 55-2S 88' 4) 336ACSR C1-1PTV M2-11S
ADD



Page 8 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

27 55-2S 80' 4) 336ACSR C2V SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD

28R 40-4 255' 3) 1/0ACSR 2) M5-14 4) M5-17 7) M5-5 250SL G39-37.5 M2-1 E1-1 K14 250SL W/ 16' MAST
REMOVE 255' 1) #2ACSR M5-10 E3-10

*75' 1/0TPLX F1-2 *SERVICE TO LAUNDRY
*50' 1/0TPLX *SERVICE TO BARGAIN BARN
*50' #4TPLX *SERVICE TO MP

28 55-1S 61' 4) 336ACSR C2VT-1 50 KVA M2-11S 2) K14C
ADD

61' #6DPLX TREE TRIMS ON BACKSPAN & FORESPAN
*50' 1/0TPLX *SERVICE TO BARGAIN BARN
*30' #4TPLX *SERVICE TO MP

   
29 35-5 75' #2TPLX M2-12 EYE BOLT

REMOVE

29 40-4S 77' 2/0 TPLX M2-11S 3) K14C
ADD REINSTALL EXISTING SERVICE TO NEW POLE

30 35-5 * EYE BOLT *NO POLE GROUND
REMOVE 123' #2TPLX RETIRE #2 TPLX FROM #25R TO #30

30 40-4S 128' #2TPLX M2-11S E1-3ISW K14C SIDEWALK GUY W/ 5' PIPE
ADD F1-3S REINSTALL EXISTING SERVICE TO NEW POLE



Page 9 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

31 40-4S 88' #2TPLX M2-11S J5
ADD

32 35-5 170' #2TPLX M2-12 EYE BOLT  I
REMOVE

32 40-4S 82' #2TPLX M2-11S E1-3ISW K14C SIDEWALK GUY W/ 5' PIPE
ADD F1-3S REINSTALL EXISTING SERVICE TO NEW POLE

   
28

EXIST

   
33 55-2S 72' 4) 336ACSR C2V SV400SL M2-11S K14C 400W SV W/ 20' MAST

ADD 72' 1/0TPLX
TREE TRIMS ON BACKSPAN & FORESPAN

*30' 1/0TPLX *SERVICE TO LAUNDRY

34 55-2S 88' 4) 336ACSR C2V M2-11S J5
ADD

88' #6 DPLX

35 55-2S 66' 4) 336ACSR C1-1PTV SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD

66' #6 DPLX

36 50-1S 62' 4) 336ACSR C1PTV M2-11S
ADD



Page 10 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

37 40-4 328' 3) 1/0ACSR 2) M5-14 4) M5-17 8) M5-5 250SL M2-2 K14 250SL W/ 12' MAST
REMOVE 328' 1) #2ACSR C7 3) M5-9 6) M5-20

75' #2TPLX CUT SERV. TO LENGTH & INSTALL ON NEW POLE

37 55-2S 60' 4) 336ACSR C1-C7VX M2-11S K14C C1-C7V WITH 3 FUSED CUTOUTS
ADD SV400SL 400W SV W/ 20' MAST

38 55-1S 68' 4) 336ACSR C8V-BKT M2-11S 3) E1-3I
ADD 2) F1-3DH

39 45-3 134' 3) 1/0ACSR C1 2) M5-10 250SL *G210-50,25 M2-1 K14 250SL W/ 12' MAST
REMOVE 134' 1) #2ACSR *EYE NUT *EYE NUT ON NEUT. INS. FOR SEC. OVER RD.

.

39 55-1S 72' 4) 336ACSR C1VT-2 SV400SL 25 & 50 KVA M2-11S K14C 400W SV W/ 20' MAST
ADD REINSTALL 1/0 QUADPLEX TO NEW POLE

40 40-4 113 #4TPLX *M8 M2-12 EYE BOLT TRANSFER METER TO NEW SECONDARY POLE
REMOVE

40 40-4S *M8 M2-11S 2) K14C TRANSFER METER TO NEW SECONDARY POLE
ADD

41 35-4 M2-2 J5
ADD 68' 1/0TPLX



Page 11 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

42 35-4 M2-2 K14C
ADD 68' 1/0TPLX

43 EXIST G39-15 K14C
EXIST 60' 1/0TPLX

44R 35-5 *75' #2TPLX M2-2 EYEBOLT *REMOVE #2 TPLX TO POLE #37
REMOVE

44 40-4S M2-11S POLE SET FOR UG COMM. CROSSING
ADD

39
EXIST

45 45-3 135' 3) 1/0ACSR C1-1 2) M5-14 4) M5-17 250SL G310V-(3:37) M2-11 250SL W/ 16' MAST
REMOVE 135' 1) #2ACSR 3) M5-10 *CT-MTR *TRANSFER CT METERING AND RISER TO POLE

45 50-1S 132' 4) 336ACSR SV400SL 400W SV W/ 20' MAST
ADD C1VT-3 *CT-MTR 3) 37 KVA M2-11S *TRANSFER CT METERING AND RISER TO POLE

46 40-4 198' 3) 1/0ACSR C1 M5-10 250SL G39-37.5 M2-1 K14 250SL W/ 12' MAST
REMOVE 198' 1) #2ACSR

CUT SERV. TO LENGTH & INSTALL ON NEW POLE



Page 12 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

46 55-2S 203' 4) 336ACSR SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD C1VT-1 37 KVA

46A 40-4S M2-11S POLE SET FOR UG COMM. CROSSING
ADD

47 55-2S 118' 4) 336ACSR C1PTV SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD

118' #6 DPLX

48 45-4 242' 3) 1/0ACSR C1 M5-14 2) M5-17 250SL G39-25 M2-1 EYE BOLT 250SL W/ 12' MAST
REMOVE 242' 1) #2ACSR 4) M5-10 M9-13 RETIRE CAPICITOR BANK

CUT SERV. TO LENGTH & INSTALL ON NEW POLE

48 55-2S 121' 4) 336ACSR SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD C1VT-1 25 KVA

49 50-1S 120' 4) 336ACSR *C8V-SW *VERT-SW M2-11S *INSTALL VERT. GANG SWITCH "CLOSED"
ADD

50R 45-3 241' 3) 1/0ACSR C8 C2-1 400SL M2-12 K14 400SL W/ 16' MAST
REMOVE 241' 1) #2ACSR CUT SERV. TO LENGTH & INSTALL ON NEW POLE

*60' #4TPLX *SERVICE TO HOUSE

50 50-1S 134' 4) 336ACSR C1-1AAF M2-11S K14C C1-1AAF  ALLEY ARM TOP CKT.
ADD C8F 6)M5-5 C8 BOTTOM CKT.

SV400SL 400W SV W/ 20' MAST
*60' #4TPLX *SERVICE TO HOUSE (TREE TRIM)



Page 13 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

50A remove 160' 4)336 ACSR REPLACE CONDUCTOR ON HWY CROSSING
add 176' 4)336 ACSR

51 45-3 186' 3) 1/0ACSR C1-1 400SL M2-12 K14 400SL W/ 4' MAST
REMOVE 186' 1) #2ACSR

50R1 15-4 M2-12 REMOVE OLD TOPPED POLE

51 55-2S 173' 4) 336ACSR C2V SV400SL M2-11S K14C 400W SV W/ 20' MAST
ADD REINSTALL EXISTING DPLX TO NEW POLE

52A EXIST A5-1
ADD

52 30-4 M2-12
REMOVE

52 40-4S 92' 2) #4ACSR A4 M2-11S E1-3I INSTALL # 4 ACSR CONDUCTOR UTILIZING
ADD F1-3S REDUCED TENSION SAG CHARTS PROVIDED

53 35-4 M2-2 E1-1
REMOVE E3-10

F1-2

53 40-4S 111' 2) #4ACSR A1 M2-11S J5
ADD



Page 14 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

54 35-4 *250SL M2-12 K14 *TRANSFER 250SL W/ 8' MAST TO NEW POLE
REMOVE

54 40-4S 156' 2) #4ACSR A1 *250SL M2-11S *TRANSFER 250SL W/ 8' MAST TO NEW POLE
ADD

55 40-4 *M26-5 M2-12 E1-1 2) K14 *TRANSFER SECURITY LIGHT TO NEW POLE
REMOVE E3-10 2) EYE BOLT CUT DPLX TO LENGTH & REINSTALL TO NEW POLE

F1-2 POLE

55 40-4S 128' 2) #4ACSR A5 *M26-5 G10-15 M2-11S E1-3ISW 2) K14C *TRANSFER SECURITY LIGHT TO NEW POLE
ADD F1-3S REINSTALL EXISTING SERVICE TO NEW POLE

BKT-18 18" FIBERGLASS BRACKET FOR CUTOUT

56R 30-4 *M8-10 M2-12 K14 *METER BEING RELOCATED TO POLE #56A SEE  
REMOVE METER ATTACHMENT DRAWING CP #56

56 45-3 149' 3) 1/0ACSR C7 B7 4) M5-5 400SL G310-50,50,50 M2-1 E1-3 2) K14 400SL W/ 4' MAST
REMOVE 149' 1) #2ACSR 3) M5-10 2) M5-9 E3-10

F1-3 CUT SERV. TO LENGTH & INSTALL ON NEW POLE

56 55-1S 150' 4) 336ACSR C5-B5VT (3) 50 KVA M2-11S 2) E1-3I K14C
ADD SV400SL F1-3DH 400W SV W/ 20' MAST

56A 30-4 *M8-10 M2-1 K14C *REINSTALL METER TO NEW METER POLE
ADD SEE METER ATTACHMENT DRAWING CP #56



Page 15 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

57 45-3 197' 3) #2ACSR 4) M5-5 3) M5-14 400SL G210-37.5,15 M2-1 K14 400SL W/ 12' MAST
REMOVE 6) M5-17

2) M5-20

57 50-2S 201' 3) 1/0ACSR B1VT-2 15 & 37 KVA M2-11S K14C
ADD SV400SL 400W SV W/ 20' MAST

REINSTALL EXISTING SERVICE TO NEW POLE

58 40-3 60' 3) #2ACSR B1 M2-2 J8
REMOVE 2) K14

83' #2TPLX 2) EYE BOLT

58 50-1S 55' 3) 1/0ACSR B1-1AAF M2-11S K14C REINSTALL EXISTING SERVICE TO NEW POLE
ADD

59 40-3 108' 3) #2ACSR M5-14 2) M5-17 M5-2 G9-15 M2-1 J5 REINSTALL EXISTING SERVICE TO NEW POLE
REMOVE M5-5 M5-4 M5-10 K14

59 50-1S 108' 3) 1/0ACSR B1-1AAF SV400SL M2-11S 2) K14C 400W SV W/ 20' MAST
ADD BKT-18 G39-15 18" FIBERGLASS BRACKET FOR CUTOUT

REINSTALL EXISTING SERVICE TO NEW POLE

60R 40-4 192' 3) #2ACSR M5-14 2) M5-17 M5-2 G9-15 M2-1 J8
REMOVE M5-5 M5-10 K14

*75' #2TPLX *SERVICE TO BUSINESS

60 50-1S 206' 3) 1/0ACSR B1VT-1 15 KVA MS-11S K14C
ADD SV400SL 400W SV W/ 20' MAST

*85' #2TPLX *SERVICE TO BUSINESS



Page 16 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.

61 40-3 232' 3) #2ACSR B1 M5-10 400SL G9-25 M2-1 EYE BOLT 400SL W/ 12' MAST
REMOVE

61 50-2S 211' 3) 1/0ACSR B5-A5V BKT-18 M5-10 25 KVA M2-11S 2) E1-3I K14C 18" FIBERGLASS BRACKET FOR CUTOUT
ADD SV400SL F1-3DH 400W SV W/ 20' MAST

REINSTALL EXISTING SERVICE TO NEW POLE

62 40-3 107' 3) #2ACSR B1 A5-2 M5-4 M2-2 EYE BOLT
REMOVE 107' #4TPLX M5-10

*40' #4TPLX *SERVICE TO SIGN

62 45-3S 122' 2) #4ACSR A4 M2-11S 2) K14C REINSTALL EXISTING SERVICE TO NEW POLE
ADD 122' #4TPLX

*45' #4TPLX *INSTALL NEW SERVICE TO SIGN

63R 40-3 133' 3) #2ACSR B7 M5-4 250SL M2-2 E1-3 EYE BOLT 250SL W/ 12' MAST
REMOVE E3-10

F1-2 CUT SERV. TO LENGTH & INSTALL ON NEW POLE

63 40-4S 85' #6DPLX SV400SL M2-11S E1-3ISW K14C 400W SV W/ 20' MAST
ADD F1-3S

REMOVE

ADD



Page 17 of 17

  Date: 3/17/14
           

    
Pole Poles
No.

Height 
Class 

Wire 
Back-
Span Wire Size Unit Unit Unit Street Light Meter Transformer Ground Guy/Anc

Neut. or Sec. or 
Ser. Units Misc. &  Remarks

CONSTRUCTION  STAKING SHEET

City Of Lockhart HWY 183 Utility Relocation Project

Pri Unit Misc.


